FINANCIAL MANAGEMENT-II
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UESTION 2013

Group - A

| (Multiple Choice Type Questions)
1. Choose the correct alternatives for any fen of the following:

i) Which method of costing is used in a
services?

¥a) operating costing

c) mulliple costing

Specialty nursing home to measure cost of various

b) standard costing
d) absorption costing

iiy Prime cost is sum total of
a) direct labour and direct material
b) indirect labour and direct material
v c) direct labour, direct expenses and direct material
d) direct material, direct labour and indirect expenses

iii) Salary of supervisor is moslly considered as a
v'a) factory overhead
c) variable cost

b) selling and distribution overhead
d) direct cost

iv) The investment on land and factory shed of a bread factory may be considered as
a) imputed cost v'b) historical cost
.c) sunk cost d) opportunity cost

v) In which of the following methods of pricing, costs lag behind the current economic value during
inflationary conditions?

v'a) LIFO b) FIFO ¢) replacement price - d) weighted price

vi) Bin card is maintained by
v'a) store keepers b) auditors i
c) cost accountants d) gatekeepers of warehouses and godowns . -

vii) If the work certified is more than 50%, but less than 75% of the contract price : e
a) no profit should be credited
b) 1/3 of notional profit is called . , ‘ e
vc) 2/3 of notional profit is credited 2
d) tull amount of profit is to be credited anticipation
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l fiuctuations is
viii) When prices fluctuate widely, the method that would help to smooth out the fiuc ,
‘ v'b) weighted average

d) rhythmic average

a) simple average
C) moving average

ix) Labour tumover is measured by

ber of workers
a) number of workers replaced / average num e
b) number of workers left / number of workers in the beginning plus number at the gnd

c) number of workers joining / number in the beginning of the period - |
¥'d) number of workers left / average number of workers during the peak manufacturing periog

X) Packaging cost is treated as a __,
a) production cost v'b) selling cost
c) distribution cost d) cost of raw materials

xi) Which of the following manufacturing industries applies process costing?
a) real estate b) printing
c) marble flooring v'd) petroleum refinery

xii) The variants of job costing are
¥'a) contract costing and batch costing b) process costing and batch costing
¢) operating costing and process costing d) direct costing and indirect costing

Group-B
(Short Answer Type Questions)
2. What are the characteristics of an Ideal Costing system in Retail industry?
See Topic: INTRODUCTION, Short Answer Type Question No. 6.

a) Halsey Premium Bonus Plan
b) Rowan Premium Bonus Plan.

See Topic: ACCOUNTING FOR LABOUR, Short Answer Type Question No. 5.

5. State the difference between Job coétin

, g and Contract costing.
See Topic: COST ASCERTAINMENT, Sp,

ort Answer Type Question No. 1.
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g. How do you differantiate batwaen Intagral and non-Integral systoms of keeping cost records? '
see Topic: COST RECORDS, Short Answer T'ype Question No. 2. ‘

Group - C

(Long Answer Type Questions)
7 a) How does the concept of “Economic Order Quantity” (EOQ) help manufacturing companies to
cut costs? State the assumplions taken whilo applying the EOQ.
b) Sun Ltd. provides you the following information:

Reordor lovel - 64,000 units
Reorder quantity ~ 40,000 units
Minimum stock lavel - 34,000 units
Maximum stock level - 94,000 units

Average lead lime in the past has been 2.5 days.

The difference between maximum and minimum lead time is 3 days.

. Determine the maximum and minimum Usage Rate per day.

- ¢) What do you mean by safoty stock?

; 2) 1¥ Part: See Topic: ACCOUNTING FOR MATERIAL, Long Answer Type Question No. 4.

9™ purt: See Topic: ACCOUNTING FOR MATERIAL, Short Answer Type Question No. 1(2™ part).
b) See Topic: ACCOUNTING FOR MATERIAL, Lurig Answer Type Question No. 10.

¢) Sce Topic: {\CCOUNTING FOR MATERIAL, Long Answer Type Question No. 6.(a) (2™ part).

a3 e i

TR P e

8. Solaris Lid. produces a product “Z" which passes through two distinct processes — Process A
and Process B. On completion, it is transferred to finished stock. From the following information

E'_' relating to the year 2012-2013, prepare the process accounts and finished stock account.
‘E Particulars Process A Process B -
. |"Raw material used 1000 units
Cost per unit Rs. 200
Transfer to the next | 940 units 870 units
process/finished stock
Normal Loss (on inputs) 5% 10%
Direct wages Rs. 15,600 Rs. 13,200
Direct expenses 75% of direct wages 75% of direct wages
Sundry expenses Nil Rs. 2,954
Realizable value of scrap per unit Rs. 4.50 Rs. 5.75 j

800.units of finished goods were sold at a profit of 20% on cost. Assume that there was no opening

or closing stock of work-in-progress.
See Topic: COST ASCERTAINMENT, Long Answer Type Question No. 11.

9. The following are the particulars in respect of Contract No. C231 for the year ended 31.12.2012.

Prepare the Contract Accounts. :
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«d Rs. 1,80,000, Wages unpald As. 3,000, Othg,-
200,000, Materials returnad o store Ao, 5,0;)0’.
.I s;olen from site RS 10,000, lnsuran'cg Claim
fied Rs. 11,000 and Cash received Hg

Materials sent to site Rs. 1,50,000, Wages p2
expenses Rs. 26,000, Plant sent 10 sito Rs. |
Materials lying unconsumed RS. 8,000, Materia .
admitted for material stolen Rs. 7,000, Work uncerti

3,60,000. ‘ extent of 90% of wor
Plant is subject to depreciation @7.5% p.a. and cash received to the
certified. 7.

ion No.
See Topic: COST ASCERTAINMENT, Long Answer Type Question,

nder Replacemeg
10. a) Form the following Information, calculate the labour turnover rate u p nt

method:

Separation method and flux method:
Number of workers at the beginning of the year — 3,800

Number of workers at the end of the year — 4,200 ) '
During the year 40 workers leave while 160 workers are discharged. 800 workers are required

during the year. Of these 150 workers are required because of leavers and the rest are engaged in

accordance with an expansion scheme.
See Topic: ACCOUNTING FOR LABOUR, Long Answer Type Question No. 5.

b) From the following data prepare a reconciliation stalement for a detergent manufactuging unit:

Rs.
Profit as per Cost accounts 1,50,000
Works overhead under-recovered 10,000
Administrative overheads under-recovered 25,000
Selling overheads over-recovered - 19,000
Over-valuation of opening stock in
Cost accounts 15,000
Under-valuation of closing stock in Cost accounts 8,000
Interest eamed during the year 3,500
Rent received during the year 28,000
Bad debts written off during the year 9,500
Preliminary expenses written-off during year 18,500

See Topic: COST RECORDS, Long Answer Type Question No. 2,

11. Write short notes on any three of the following:
a) Cost audit

b) Idle time

¢) Under-absorption of overheads

d) Cost accounting treatment of by-products
e) Abnormal gain in process costing.
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“a) See Topic: COST AS(‘ERTAINMEN! Long Answer ¥ Type Question No, 5.(¢),
~ b) See Topic: ACCOUNTING FOR MATERIAL o Long Answer Type Question No. 11,
c) See Topic: ACCOUNTING FOR OVER ADS, Long Answer Type Question No. $.(c),
d) See Topic: COST A E’CFR]AINMFNT Long Answer Type Question No, 15. (k).
e) See Topic: COST ASCERTAINMENT, Long Answer Type Question No. 15.(1).
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